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16. Reading books ....... the best way to spend free time, ........ watching TV.
a. is-not b. are-no C. is-no d. are-not
17. She is much taller than when I last saw her. She .......... a lot since then.
a. has grown b. grows c. is growing d. is going to grow
18. Please check that you have all your belongings with you before ..... the train.
a. to leave b. leave c. leaving d. left
19. He was studying but when I went into his room, he stopped .............. to me.
a. talk b. to talk c. talking d. talked
20. I can’t understand why you ........... this book. I’m sure you’d enjoy it.
a. have never read b. were never reading
c. had never read d. are never reading
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